                    REVISION (Form 12)
 
1-5. Pick out the word whose underlined and bold part is pronounced differently from that of the other words.
 
1. A. cook            B. boot                C. booth               D. proof 
2. A. question      B. mention          C. dictation            D. devotion
 3. A. eight          B. weight             C. freight              D. heighten
 4. A. invite          B. kind                C. find                   D. since
 5. A. afterward    B. advise             C. agree                D. allow 
6-10. Pick out the word that has the stress differently from that of the other words.
 6. A. inspire           B. wealthy            C. protect            D. extinct
 7. A. simplicity       B. pollution           C. electricity         D. activity
 8. A. mathematics  B. statistics           C. academy          D. mechanic
 9. A. habitat          B. pollution           C. construction     D. extinction
 10. A. classify       B. biologist            C. benefit             D. serious
11 - 25. Choose the best answer among A, B, C or D that best completes each sentence.
11. The project must be completed within a specific time …...
A. space      B. span        C. period     D. B and C
12. The State of Florida was hit by a hurricane that did serious …..
A. damage   B. destruction       C. collapse      D. spoilage
 13. These fences help to …… wind damage to the crops.
A limit       B. minimize          C. prevent         D. All are correct
 14. Official business requirements obviously ……. priority …….personal requests.
A. take - over       B. have - over       C. take - on       D. A and B
 15. My …………priority is to find somewhere to live.
A. initial    
 B. first        
C. top         

D. A and B
 16. My mother permitted me to go out at night. She said, “You…… go out tonight
A. may        B. have to   

C. must                D. ought to
 17. It is possible that she will come to our party tonight. She …..come here tonight.
A. need       B. may        

C. should    

D. will
 18. They can type. They ………… type.
A. learn how to    B. are able to    C. know how to   D. B and C are correct
 19. He advised me to take an English course. I …… it early.
A. should have taken     B. should take
C. will have taken                    D. may take 
20. I’d rather ….. in the field than …… home.
A. to work - to stay    B. work – stay   C. working - staying     D. worked  - stayed
 21. As an orphan, he ….. earn his living alone.
A. have to   B. has had to        C. ought to           D. had to
 22. They prayed that their daughter …… be lucky again.
A. may        B. will        

 C. could                D. might
 23. “Do you have to buy this hat?” “No, I …. it isn’t necessary.”
A. mustn’t            B won’t      C. needn’t            D. don’t need
24. A man can never have too many ties. It’s ………
A. unable    B. impossible       C. improbable                D. incapable
 25. It could not tell the difference between Indian music and jazz. It …… tell the difference between Indian music and jazz.
A. might not         B. may not           C. mustn’t            D. wasn’t able to
26 - 30. Choose the underlined part among A, B, C or D that needs correcting.
26. Alike (A) all other (B) mammals, dolphins have (C) lungs (D).
27. The shop assistant (A) to whom (B) I spoke (C) to was very helpful (D).
28. Some students have difficult (A) expressing exactly (B) what (C) they want to say (D).                                      
29. Food prices (A) have risen (B) too (C) rapidly that we have to change our eating habits (D).              
30. His father told (A) him to apologize (B) their neighbor for (C)being rude (D).                     
31 - 35. Choose the correct sentence among A, B, C or D which has the same meaning as the given one. 
31. If we have a lot of money, we can spend our holiday in Australia.
A. We are able to spend our holiday in Australia if we have a lot of money.
B. Unless we have a lot of money, we can’t be able to spend our holiday in Australia.
C. If we have a lot of money, we will be able to spend our holiday in Australia.
D. If we had a lot of money, we would be able to spend our holiday in Australia.
32. I found it difficult to communicate in English.
A. I had no difficulty communicating in English.
B. I didn’t like to communicate in English.
C. I was not used to communicating in English.
D. I preferred communicating in English.
33. It must have rained last night.
A. I believe it rained last night.
B. I believe in the rain last night.
C. I think it has rained last night.
D. It’s likely to rain last night.
 34. Peter emphasized the importance of being thoughtful toward one another.
A. Peter said that people should not talk too much.
B. Peter said that people should not be too serious.
C. Peter said that people should consider the feelings of others.
D. Peter said that people should discuss thoughtful topics.
35. Everyone can take a seat at that table.
A. Everyone can sit down at that table.
B. Everyone can carry a chair to that table.
C. Everyone can take a chair away from that table.
D. Everyone can remained seated at that table.
36 - 45. Choose the word or phrase among A, B, C or D that best fits the blank space in the following passage:
 Do you want to take part in the battle to save the world’s wildlife? “Animal Watch” is a book which will (36)….. you in the fight for survival that (37)….  many of our endangered animals and show how they struggle on the (38)…. of extinction. As you enjoy the book’s 250 pages and over 150 coloured photographs, you will have the (39)…..  of knowing that part of your purchase money is being used to help animals (40)…. . From the comfort of your armchair, you will be able to observe the world’s animals close-up and explore their habitats. You will aỉso discover the terrible results of human greed for land, flesh and skins.
 
“Animal Watch” is packed with fascinating facts. Did you know that polar bears cover their black noses (41)…. their paws so they can hunt their prey in the snow without being seen, for example? Or that for each orangutan which is captured, one has to die?
 
This superb (42)…. has so (43)….. Britain’s leading wildlife charity that it has been chosen as Book of the Year, a (44)….. awarded to books which are considered to have made a major contribution to wildlife conservation. You will find “Animal Watch” at a special low introductory at all good bookshops, but hurry while (45)….. last.
 
36. A. combine     
B. involve   
   C. bring      

D. lead
 37. A. meets         
B. opposes           C. forces               
D. faces
 38. A. edge           
B. start                 C. limit                 
D. end
 39. A. satisfaction         B. enjoyment       C. virtue              
 D. value
 40. A. preserve         
B. conserve          C. revive               
D. survive
 41. A. with                
B. by                    C. for                    
D. from
 42. A. publicity    
B. periodical        C. publication      
D. reference
 43. A. imposed     
B. impressed        C. persuaded       
 D. admired
 44. A. Symbol     
 B. title                 C. trademark       
 D. nickname
 45. A. Stores        
B. stocks              C. goods              
 D. funds
 
46 - 50. Choose the item among A, B, C or D that best answers the question about the passage:
 
Since the world has become industrialized, there has been an increase in the number of animal species that have either become extinct or have been near extinction. Bengal tigers, for instance, which once roamed the jungles in vast numbers, now number only about 2,300, and by the year 2025 their population is estimated to be down to zero. What is alarming about the case of the Bengal tiger is that this. extinction will have been caused almost entirely by poachers who, according to some sources, are not interested in material gain but in personal gratification. This is an example of the callousness that is part of what is causing the problem of extinction. Animals like the Bengal tiger, as well as other endangered species, are a valuable part of the world’s ecosystem. international laws protecting these animals must be enacted to ensure their survival, and the survival of our planet.
 Countries around the world have begun to deal with the problem in various ways. Some countries, in order to circumvent the problem, have allocated large amounts of land to animal reserves. They then change admission to help defray the costs of maintaining the parks, and they often must also depend on world organizations for support. With the money they get, they can invest in equipment and patrols to protect the animals. Another solution that is an attempt to stem the tide of animal extinction is an international boycott of Products made from endangered species. This seems fairly effective, but it will not, by itself, prevent animals from being hunted and killed.
 46. What is the main topic-of the passage?
A. The Bengal tiger                B. International boycotts
C. Endangered species          D. Problems with industrialization
 47. Which of the following is closest in meaning to the word “alarming” in line 5?
A. dangerous        B. serious       C. gripping            D. distressing
 48. The word “poachers” as used in line 7 could best be replaced by which of the following?
A. illegal hunters            B. enterprising researchers
c. concerned scientists    D. trained hunters
 49. The word “callousness” in line 8 could best be replaced by which of the following?
A. indirectness     B. independence   C. incompetence   D. insensitivity
 50. What does the word “This” in line 8 refer to?
A. endangered species that are increasing
B. Bengal tigers that are decreasing
C. poachers who seek personal gratification
D. sources that may not be accurate 
